
 ASSEMBLY INSTRUCTIONS  

© by WilTec Wildanger Technik GmbH  Item 60193 Page 1  
http://www.fudajo.com  11 2022-1 

60193 – Rodent Cage 
 

Letter Figure Qty. Letter Figure Qty. 

A1 

 
M6×30 

12 F 

 

1 

A2 

 
M4×30 

24 G 

 

1 

A3  
M4×25 

2 H 

 

1 

A4  
M3×12 

30 I 

 

1 

A5  
M1.5×8 

4 J 

 

1 

A6 

 

1 K 

 

3 

A7 

 

5 L 

 

1 

A8 

 

1 M 

 

1 

B  |  C 

       

1 N 

 

1 

D  |  E 

        

1 O  |  P 

       

1 

  



 ASSEMBLY INSTRUCTIONS  

© by WilTec Wildanger Technik GmbH  Item 60193 Page 2  
http://www.fudajo.com  11 2022-1 

 

 
A4 (6) | A7 (1) | Step 1 

 
A2 (2) | Step 2 

 
A2 (6) | Step 3 

A 

A 

 

 

 

 

A 

M

A 

 



 ASSEMBLY INSTRUCTIONS  

© by WilTec Wildanger Technik GmbH  Item 60193 Page 3  
http://www.fudajo.com  11 2022-1 

 
A2 (4) | Step 4 

 
A1 (4) | A2 (9) | Step 5 

 

A 

 

A 



 ASSEMBLY INSTRUCTIONS  

© by WilTec Wildanger Technik GmbH  Item 60193 Page 4  
http://www.fudajo.com  11 2022-1 

 
A2 (3) | Step 6 

 
A1 (8) | Step 7 

 

A 

A 

 

A 

M



 ASSEMBLY INSTRUCTIONS  

© by WilTec Wildanger Technik GmbH  Item 60193 Page 5  
http://www.fudajo.com  11 2022-1 

 
A4 (24) | A7 (4) | Step 8 

 
A3 (2) | Step 9 

 
A5 (4) | A6 (1) | Step 10  

 
 
 
 
 
 
Important note: 
 
The reprint or reproduction, even of excerpts, and any commercial use, even in part of this instruction 
manual requires the written permission of the WilTec Wildanger Technik GmbH. 

 

I

A 

A 

 

P
A 


